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Abstract. In this paper we will prove the famous Arslangic’s inequality and
we will give a few applications.

ARSLANGIC’S INEQUALITY
If x, y, z > 0 then:
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By adding (2); (3); (4):
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Equality holds for x = y = z. �

Application 1: If a, b, c > 0 then:
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Proof.
We take in (1):
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Equality holds for a = b = c.
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Application 2: If a, b, c > 1 then:

logb a+ logc b+ loga c ≥
ln(abc)
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Proof.
We take in (1):

x = ln a, y = ln b, z = ln c,
ln a

ln b
+

ln b

ln c
+

ln c

ln a
≥ ln a+ ln b+ ln c

3
√
ln a · ln b · ln c

logb a+ logc b+ loga c ≥
ln(abc)

3
√
ln a · ln b · ln c

Equality holds for a = b = c.
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Application 3: If a, b, c ∈ R then:

2a−b + 2b−c + 2c−a ≥ 2a + 2b + 2c
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Proof.
We take in (1):

x = 2a, y = 2b, z = 2c, x, y, z > 0
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Equality holds for a = b = c.
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Application 4: If x, y > 0 then:
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We take in (1) : y = z.
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Equality holds for x = y.
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Application 5: If 0 < a ≤ b then:
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Equality holds for a = b.
�

References

[1] Romanian Mathematical Magazine - Interactive Journal, www.ssmrmh.ro

Mathematics Department, National Economic College ”Theodor Costescu”, Drobeta
Turnu - Severin, Romania

Email address: dansitaru63@yahoo.com


